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1.0] 4454 95,052| 77,312 17,740
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1. SR S ARG =T 95,052 77,312 17,740
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1.8 2w A9 1 AHA P 507 600 -93
1.8 B A kA ] 507 0 0
1.8 20 507 0 0|3t orAF A3 n] 9009 X 230 = 207,000
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1.8 %) 8- 385 300 85
1.3t 5 A% 385 0 0
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1,03 g% 60,229 46,154 14,075
1. 74713 u 58 60,229 46,154 14,075
1.£4944 57,325 0 0
1.&94% 56,000 0 0|49 40,0009 X 78 X 8A| 7k x 259 = 56,000,000
2. 08| 1,325 0 0|Fg&E 20,0009 X102 x43]= 800,000
TATY 15,0009 X598 X 78 = 525,000
2.9 ANS 2,112 0 0
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1.+95% 2,112 0 0| A =S 1009 <2207 < 83}-5- < 129= 2,112,000
3.744%7} 792 0 0
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